Solucions exercicis d’identitats notables
3r ESO

1. Resol les seguents identitats notables:

a. (x+3)?

(Solucié: x2 + 6x + 9)

b. (y-5)

(Solucié: y? — 10y + 25)
c. 56-2)5+2)
(Solucié: z? — 25)

d. (2 -x)?

(Solucid: x2 — 4x + 4)

e. (4 +x)?

(Solucio: x2 + 8x + 16)
f. (y+5)(y-5)
(Solucio: y? — 25)

g. (x+5y)?

(Solucio: x2 + 10xy + 25y?)
h. (2+ 1)

(Solucié: x* + 2x? + 1)
i. (2x—3x?)?

(Solucié: 9x* — 12x3 + 4x?)
1
: _ 2
1 1
(Solucio: x% — SX+ )

k. (2x —3x?)(2x + 3x?)

(Soluci6: -9x* + 4x?)
1 1
L (x=3) (x+3)

1
(Solucié: X% — E)
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